" BARICK.

VENDOR:Xin Jian (014D) TERAMDTT 790R-B1 TERAMDTB 790R-B2
ASSEMBLY INSTRUCTIONS(INSTRUCTIONS D'ASSEMBLAGE)

w
HARDWARE LIST : PARTS LIST :
NO.|SKETCH| DESCRIPTION QTY NO.[ SKETCH| DESCRIPTION QTY
A ; %ci;gew (24*12mm) 4 PCS
1 |e——— Table top
B ﬁ Egllgfg/lnﬂ*%MM) 1PC Dessus de table 1pC
- Washer(M12)
C Rondelle plate 1pPC
- . Connecting iron plate
D @ SR%rrl]rége”Véafsrgﬁ]r(Mlz) 1 PC 2 Plaque en acierde |1 PC
raccordement
Allen wrench(M10)
E ﬂ Clé hexagonale 1PC
F ? Eg{j%# 5/8") 4 PCS Support bar
— Washer(w/a") 3 — | Barre de support 1PC
, asher(1/4"
G Rondelle plate 4 PCS
Spring washer(1/4")
H @ Rondelle frein 4 PCS Counter weight
4| - O ) 1PC
Allen wrench(M4
! ~ |ci hexagon:gle ) 1pPC Contrepoids
© Bolt(M8*20MM)
J s Boulon 3PCS
; Bolt(M8*65MM) Base
K Bougon 3 PCS 5 Base 1 PC
p Washer(M8
L Rondellc(a plrztte 6 PCS
Spring washer(M8) Connecting iron Plate
M & ; 9
Rondelle frein 6 PCS 6 C=o Plaque en acierde |1 PC
Allen wrench(M5) raccordement
N 4 Clé hexagonale 1pC
Step 1
\. y,




VENDOR:Xin Jian (014D) TERAMDTT 790R-B1 TERAMDTB 790R-B2
ASSEMBLY INSTRUCTIONS(INSTRUCTIONS D'ASSEMBLAGE)

Step 2

" BARICK.

Step 3

Step 4




" BARICK.

VENDOR:Xin Jian (014D) TERAMDTT 790R-B1 TERAMDTB 790R-B2
ASSEMBLY INSTRUCTIONS(INSTRUCTIONS D'ASSEMBLAGE)

( )
Step 5

Step 6




	XA-290餐椅 790R 785R餐桌三视图-Model.pdf1
	XA-290餐椅 790R 785R餐桌三视图-Model.pdf2
	XA-290餐椅 790R 785R餐桌三视图-Model.pdf3

